Դաս 8
Կրկնություն
Առաջադրանքներ դասարանում
1․ Կատարեք նման անդամների միացում
[image: ]
a²bc+2abca+(-3bca²)=a²bc
(-aba²)+7a²ba+a³b=7a³b
7a²+(-3a²)+ (-4a²)=a²
2․ Կատարեք նման անդամների միացում
[image: ]
6a⁸b²+7a⁸b²+(-2)a⁸b²=11 a⁸b²
0c²e⁵+4c²e⁵-16c²e⁵=20c²e⁵
6,4a⁴k+2,14a⁴k-8,6a⁴k=0,06a⁴k
7,14ax ²+ 4,36ax² – 12,8ax²= -1,3ax²
3․  Գտեք միանդամների արտադրյալին հավասար միանդամը
[image: ]
3a²b³c x 6a³b²c=18a⁵b⁴c³
8c²e³k x 12c²ek=96c⁴e⁴k²
(-14)a³bc²x 4ab²c²=a⁴b³c⁴
=
=
Տնային աշխատանք
1․ Կատարեք նման անդամների միացում
[image: ]
3abc-7abc= -4abc
9a³b²- 9a³b²=a³b²
5a-6a= -1a
7a-a=7?
2․ Կատարեք նման անդամների միացում
[image: ]
18a²b-4a²b+6a²b=18a²b
4b³c⁴+8b³c⁴ -14b³c⁴= -2b³c⁴
2,1a²e-1,6a²e+1,5a²e=2a²e
5,18a²p³+3,22a²p³-2,4a²p³=6 a²p³
3․ Գտեք միանդամների արտադրյալին հավասար միանդամը
[image: ]

7bc⁴e² x 14b²c⁵e=98b⁶c⁹e²
(-16)e²k⁴p³ x 8e²k³p= -128e⁴k⁷p⁴

= -2a⁴k³p³
image.png
w) @*be + 2abea + (-3bea); © p) (~aba’) + Taba + a'b;

@) 7a* + (3% + (~4a)





image5.png
w) 182 - 4a’b + 6a°b;
Q) 4b'ct + 8bct — 14b'c’
B) 21a% - 1.6a% + 1,5a%;

) 5,180 + 3224 - 2.4ap’;





image2.png
P) 6" + Ta'b" + (-2)a’t
1) 0ce +4ce’ - 16c¢";
Q) 6.46a% +2,14a'% - 8,6a'%;

) 7,14 + 4,36ax" - 12,8ax:





image6.png
p) Tbc'e’ - 14bic’e;





image3.png
w) 3a?b’c - 6a’bc;
q) 8cek - 12¢ek;
b) (-14)a’be’ - dab'c’;

b3 ey 2 Lo

) —2%] aek - [





image4.png
Qanbip (w6 dhwlnuiGtph wwppbpmpmip.
w) 3abe — Tabe; ) 9@~ 9a'b;
) Sa - 6a; 0 7a-a:




